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Swdljughpp
u P 9 1 2 3 4 5 6 7 8 9 10 11 12
SUPLU42Pb UR2US ULUsnNrae X 8,051.9 - 8,051.9 8,051.9 - 8,051.9 8,051.9 - 8,051.9 8,051.9 - 8,051.9
2000000]1. CLEUSPY BLUUNKSLEGN X 101,754.8 - 101,754.8 214,985.9 2,374.0 217,359.9 267,866.9 2,374.0 270,240.9 331,350.2 2,374.0 333,724.2
(nnn 2112000 +wnn 2113000)
win punud’ :
2112000(2. MUTSSNLULUL HPUUUSLAPLLER X 101,754.8 - 101,754.8 213,985.9 - 213,985.9 266,366.9 - 266,366.9 329,224.2 - 329,224.2
npha'
2112100 | 2.1 Upypsphts wppntislywts ppusdubinphiuen’ X 59,850.0 - 59,8500 | 119,700.0 2 119,700.0 119,700.0 . 119,700.0 | 119,700.0 E 119,700.0
utnigyuid wy wlgnymibiiinhg
2112110 2.1.1. pupwghly wpunwpht wugnnbiwljwl 731100 59,850.0 59,850.0 119,700.0 119,700.0 119,700.0 119,700.0 119,700.0 119,700.0
npuidwiinphbip’ unwgywd wy) whnnegnitiubinhg
2112300 | 2.3. Llipphti wwpipnbiwlwits npuidwpbinphtin’ X 41,904.8 - 41,904.8 | _ 94,285.9 - 94,285.9 146,666.9 - 146,666.9 | 209,524.2 - 209,524.2
upwgiwd Guwnwidwndwl wy dwlwpnwlibibnhg
2112310{2.3.1. ppwghly ubppht wuounntwluit npwdwstnphubp’| 733100 41,904.8 = 41,904.8 94,285.9 2 942859 | 146,666.9 E 146,666.9 | 209,524.2 = 209,524.2
unwgluwd Gunwdwpdul wy) dwlwpnwlubiphg, wn
punul’
2112311)2.3.1.1. whnwlwt pimigkihg, X 41,904.8 - 41,904.8 94,285.9 - 94,285.9 146,666.9 - 146,666.9 209,524.2 - 209,524.2
win pymid’
21123121 2.3.1.1.1, wwnmpywits Gnndhg wundhpuwljws Swiuutiph X 41,904.8 41,904.8 94,285.9 94,285.9 146,666.9 146,666.9 209,524.2 209,524.2
thnfuhwiinnignid
2113000|3. USL BL4UUNhSLLN X - - - 1,000.0 2,374.0 3,374.0 1,500.0 2,374.0 3,874.0 2,126.0 2,374.0 4,500.0
nphg’
2113100|3.1. luninunubip ubithwlwunieniihg X - - - - - - - - - - - -
2113130(3.1.3. gnyph Jupdwluwnipnitithg Bywidnuntbp 741500 - - - Z = = 4 n
21132003.2. lwdnuntibip wiypwptbiph dwawlwpwpnudhg b X - - - 1,000.0 2,3740 3,374.0 1,500.0 2,374.0 3,874.0 2,126.0 2,374.0 4,500.0
Swnwynigniiibiph dwnnignidhg




3.2.1. Bljundnuntibp wuypwtipbiph dunwlwpwpnuihg b 742100 - - 1,000.0 2,374.0 3,374.0 1,500.0 2,374.0 3,874.0 2126.0 2,374.0 4.500.0
Swnuynipyniubbiph dwnngnuihg
J000]1l. CLHWUELE DUULP X 88,002.2 88,002.2 183,578.3 1,546.0 185,124.3 270,738.8 2,054.0 272,792.8 339,402.1 2,374.0 341,776.1
(;nnn 1100000+ wnn 4000000)
i pynul
1100000|U. CLRUSPY DUULP X 87,802.2 87,802.2 183,378.3 1,546.0 184,924.3 270,538.8 2,054.0 272,592.8 339,202.1 2,374.0 341,576.1
(innn 1110000+ winn 1120000 + winn 1140000+wnnn
1150000 +wnnn 1160000+w1nnn 1170000)
win pUnud’
1110000(1. UThUSULLD JUr2USMrNha3NhL X 63,932.0 63,932.0 142,330.0 600.0 142,930.0 212,728.0 600.0 213,328.0 271,214.5 600.0 271,814.5
(i 1111000+ winn 1112000+wninn 1113000 +winn
1115000+wnnn 1116000)
w nuf’
1111000| - Upfuwwnnnubiph wppuunwiuipabp U hwbpudGunptibp 411100 28,9320 28,932.0 72,330.0 72,330.0 15,728.0 115,728.0 173,592.0 173,592.0
1112000 - Mwpqluwwnpnuiubp, npudwluwl upwfununaiubp b 411200 35,000.0 35,000.0 70,000.0 600.0 70,600.0 97,000.0 600.0 97,600.0 97,622.5 600.0 98,2225
hwinnily J6wplbip
1120000(2. DUNU3NRE@3NRLLENP B4 UMPULLLEND X 8,930.0 8,930.0 16,825.0 550.0 13750 24,624.5 1,058.0 25,682.5 29,682.0 1,378.0 31,060.0
ALMLPEI N
(nnn 1121000+ winn 1122000 + wnnn 1123000+ winn.
1124000+ winn 1125000+ wnn 1126000)
unn pdnuf’
1121000 | 2.1. Swpnibwlwlpwh Supuubip x 630.0 630.0 1,515.0 300.0 1,815.0 2,725.0 400.0 3,125.0 3,720.0 500.0 4,220.0
1121100 - Snpswntiwlw U puiihwihl Swnwjnpgniutibph 421100 iz - - - - - -
dwuubip
1121200( - Eubipgbnply dwnuynipinitiubp 421200 175.0 175.0 300.0 300.0 600.0 550.0 400.0 950.0 700.0 500.0 1,200.0
1121300( - Ynuniwy Swnwjnipniuitip 421300 5.0 5.0 15.0 15.0 25.0 25.0 30.0 300
1121400] - Ywwh Swnuwynipjniiubp 421400 200.0 200.0 600.0 600.0 1,200.0 1,200.0 1,690.0 1,690.0
1121500 - Uwwihnduigpuiljwt dwuubp 421500 250.0 250.0 600.0 600.0 950.0 950.0 1,300.0 1,300.0
1122000 | 2.2. Dwnuynnuljwt gnpdninmuduliph gény dwfuutp X 100.0 100.0 600.0 - 600.0 1,100.0 - 1,100.0 1,300.0 - 1,300.0
1122100] - Lbippht gnpdninnuiubip 422100 100.0 100.0 600.0 600.0 1,100.0 1,100.0 1,300.0 1,300.0
1123000 | 2.3. Nuydwbwqpughl wyy duinwnipinitibph x 620.0 620.0 1,060.0 200.0 1,260.0 1,200.0 300.0 1,500.0 1,595.0 520.0 2,115.0
alinpplpnid
1123100] - dwpswljwl dwnwympniiibp 423100 - - - - - - - -
1123200] - Lwidwiljuipgswiht Swinw)nieniiitip 423200 200.0 200.0 200.0 200.0 200.0 200.0 200.0 200.0 |
1123700] - Lbphujwgmgswljwt dwiuubp 423700 50.0 50.0 50.0 50.0 100.0 100.0 150.0 150.0
1123800( - Cunhwnp punyph wy) Swnwyniegniitbp 423900 370.0 370.0 810.0 200.0 1,010.0 900.0 300.0 1,200.0 1,245.0 520.0 1,765.0
1125000 | 2.5. Lupwghly bnpngnid b wyuhwyustingd 1,000.0 1,000.0 3,000.0 - 3,000.0 3,500.0 - 3,500.0 4,300.0 - 4,300.0
(Swnuynipnibiblip b tyniptip)
1125200] - Utipbuwubph b uwppudnprdubiph pupwghly Unpngnid 475200 1,000.0 1,000.0 3.000.0 3,000.0 3,500.0 3,500.0 4,300.0 4,300.0
L wywihwuwtinud
1126000 | 2.6. Uympbp (wypulipblip) x 6,580.0 6,580.0 10,650.0 50.0 10,700.0 16,099.5 358.0 16,457.5 18,767.0 358.0 19,125.0
1126100 - Spwubbjwluhl Uynipbp L hwgniwn 426100 - - * - - - - 443.0 443.0
1126400] - Spwbuwnpuught bynipbp 426400 6,500.0 6,500.0 10,500.0 10,500.0 15,869.5 15,869.5 17,952.0 17,952.0
1126700] - Yhtigunuyht U hwipughl ubtinh Wnyekp 426700 50.0 50.0 100.0 100.0 150.0 150.0 238.0 238.0
1126800] - Cwwnnily buywinwljuht wy bymptip 426900 30.0 30.0 50.0 50.0 100.0 80.0 358.0 438.0 134.0 358.0 492.0
1170000]7. USL oUlULP X 14,940.2 14,940.2 24,223.3 396.0 24,619.3 33,186.3 396.0 33,582.3 38,305.6 396.0 38,701.6
wiry punuf’
1172000 | 7.2. Cwplybp, wpuppanhp Jéwpbibp b pnydbp, npntip x 14,940.2 14,940.2 24,223.3 396.0 24,619.3 33,186.3 396.0 33,582.3 38,305.6 396.0 38,701.6
lpunmwduwpdwl pwppbp dwlwpnuljvbph Ynndhg
Lppuwnynid bl dpdpubg bljupdudp
1172100] - Upjuwwnwjwpdh $nun 482100 - = . : . - Z =
1172200] - Uy hwplbp 482200 14,900.2 14,900.2 24,1733 396.0 24,569.3 33,046.3 396.0 33,442.3 38,105.6 396.0 38,501.6
1172300/ - Mwpuiwnhp J6wpubip 482300 40.0 40.0 50.0 50.0 140.0 140.0 200.0 200.0 3§
4000000(F. N2 HPLULUULLUL ULShYLEP X 200.0 200.0 200.0 - 200.0 200.0 - 200.0 200.0
(tnnn 1200000 + 1300000)
win pYmud’




J(PU. N2 $hLULULLUL ULShYLErh 90N OUkULP x 200.0 2 200.0 200.0 2 200.0 200.0 . 200.0 200.0 200.0
wjny pynud

,210000 1. €PULULUL UhQNSLEP x 200.0 E 200.0 200.0 z 200.0 200.0 200.0 200.0 200.0
npha’

1216000/ - Uy dbphuwitbp b uwppuajnpridutip 512900 200.0 200.0 200.0 200.0 200.0 200.0 200.0 200.0

3000000]11l. CLAUUELE HPUUULUL UhRNSLLPR Hb5hahs x (13,752.6) - (13,752.6)|  (31,407.6) (828.0)|  (32,235.6) 2,871.9 (320.0) 2,551.9 8,051.9 8,051.9
(CUULLORPTY)
(1nnn 1000000 - innp 2000000)

50000001V, 16$h8hSh HPLULUULNPUUL UAPSARPLLPE (13,752.6) = (13,752.6)|  (31,407.6) 828.0)| (32,235.6) 2,871.9 (320.0) 2,551.9 8,051.9 8,051.9

5124000 | 2.4. Ywquiwlibpunipyuit biplph pptnatiuwdnpdwtit x (13,752.6) 2 (13,752.6) | (31,407.6) (828.0) (32,235.6) 2,871.9 (320.0) 2,551.9 8,051.9 8,051.9
mupnynn yrupbuligpf dhonglibip

5126000 | 2.6. Cwptipnt dwdurtuljugpowiinud x (21,804.5) Z (21,804.5) | (39,459.5) (828.0) (40,287.5) (5,180.0) (320.0) (5,500.0) (0.0) (0.0)
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